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24 November 1999

USAES

EOAC DIVISION
1.seq level1 \h \r0 
WEATHER and TERRAIN ANALYSIS


a.  Weather Impacts on M/CM/S operations.  


b.  Terrain Impacts on M/CM/S Operations.  



1)  General.  



2)  Observation:  



3)  Cover and concealment.  



4)  Obstacles:  



5)  Key Terrain.  



ID#
GRID 

RATIONALE


6)  Avenues of Approach

2.seq level1 \h \r0 

seq level2 \h \r0   ENEMY'S MISSION AND M/CM/S CAPABILITY


a.  Enemy Mission & Situation Review:  


b.  Enemy M/CM/S Capability.


c.  On each brigade size avenue of approach template the following:



1)  Enemy Reconnaissance:  



2)  Enemy Mobility Assets:



3)  Enemy Countermobility Assets: 



4)  Enemy Survivability Assets:  



5)  Enemy's Use of Scatterable Mines:




3.seq level1 \h \r0 

seq level2 \h \r0   FRIENDLY FORCES M/CM/S CAPABILITY:


a.  General Assets Available



1)  Task Organization:  



       Maneuver:


                  
       Engineer:

 

2)  Engineer Asset Matrix.              

PRIVATE 
UNITS
ACE
DOZER
AVLB
SEE
HEMTT
MICLICs
VOLCANO
PLTs



















































TOTAL











3)  Engineers at Higher and Adjacent: 




4)  Initial Allocation of Resources:

Item
Quantity
Item
Quantity

Mines, Full Width (M21)

M112 (BX)


Mines, Track Width (M15)

TNT


Volcano

15 lb Shape Charge


MOPMS

40 lb Shape Charge


ADAMS/RAAMS (# MF)

Cratering Charge


Concertina Wire

M180 Kits


MICLIC Reloads

Bangalore Torpedo (kt)



























Remarks:

b.seq level2 \h \r0   Friendly Mobility Capabilities:



1)  The following assets are available for breaching operations:

PRIVATE 
AVLB
PLTs
MICLIC
Tank

Plows
Tank

Rollers
ACE










2)  Summarize number of lanes that can be breached and gaps crossed:




# Lanes Breached:

Asset used:

  Gaps Crossed:




# Lanes Proofed:

Asset used: 

  Total 100 m  Lane Capability:



















# Lanes Marked:

Asset used:



c.seq level2 \h \r0   Friendly Countermobility Capability:



1)  Scatterable mines:

PRIVATE 
TYPE SYSTEM
ADAM/RAAMS
MOPMS
VOLCANO
GATOR

*METERS OF OBSTACLE







*ASSUME FIX EFFECT:  Ref  FM 20-32 for resource requirements 



2) Conventional mines:  (Based on available time for engineer work) 




a)  Calculate Platoon Hours (PHs) available:




b)  Calculate the number of minefields available based on PHs available (assume FIX effect) and convert this to total meters of minefield:




c)  Calculate the number of minefields available based on materials available (assume FIX effect) and convert this to total meters of minefield:




d)  Which factor (PHs or materials limits total meters of obstacle available from conventional mines?



3)seq level3 \h \r0   Anti-tank Ditch (ATD):  (Based on available time for engineer work and a 90% operational readiness rate for all dig assets)




a)  Calculate the Blade Team Hours (BTHs) available:




b)  Calculate the meters of ATD available:



4)seq level3 \h \r0  Haul Capacity:




a)  Determine total capacity of the lift assets available to the engineers:

PRIVATE 
TYPE MATERIAL
M15 MINES
M21 MINES
CONCERTINA



QUANTITY






CAPACITY/

VEHICLE






# VEHICLES

REQUIRED






# VEHICLES

AVAILABLE









(Reference  FM 20-32 for haul capacities)




b)  Estimate whether engineers have enough transport given the available assets and the time/distance requirements:

 

5)seq level3 \h \r0   Mine Dump Operations.




a)  Calculate the PHs required to unpack all mine types (assume one platoon hour (PH) equals three squad hours (SHs):




b)  Calculate maximum linear meters of minefield that can be employed if engineers must man the Class IV/V point and unpack mines:


d.seq level2 \h \r0 

seq level3 \h \r0   Friendly Survivability Capability



1)  Vehicle fighting positions (Use the blade team hours for ACEs calculated when you determined meters of ATD available):




a)  Calculate the number of hull defilade positions:




b)  Calculate the number turret defilade positions:  



2)seq level3 \h \r0   Personnel fighting positions (based on  available time for engineer work and a 90% SEE operational readiness rate)  




a)  Calculate the SEE hours available




b)  Calculate the number of individual fighting positions:

Breach:





Proof:








Mark:
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